Add fractions

Add 2 or more fractions

Subtract fractions

Subtract 2 fractions
Subtract from whole amounts
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Practise your 4 w

Practise your 6 x

Practise yowr 7 w

B 4T cwbtvact from o whole
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Annie uses the number line to solve e
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Use a number line to solve:
16 9 16 9 16 9 16 9
13 13 9 9 7 7 16 16
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Yow need to- break down your wirole mumber.
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—Use Hre bars yow creote from your fractions to- help yow: —
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‘ The answer will be
greater than 1.

1)

2)

3)

Ayesha
The answer will be ‘f_‘g‘ ;j ’

Ewan

less than 1.

a) What is the answer?

b) Which child is correct? Explain how you know.

Ayesha has completed this calculation:

A
2-3

She used this bar model to calculate the answer:

a) Is Ayesha's model correct? Why or why not?

b) What is the answer?

There is an one odd one out in these calculations.
Which is the odd one out? Explain why it
is different.

1) Give 4 possible ways to complete this subtraction calculation. The first number must be a
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whole number.
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At his birthday party, Barney had 3 cakes each cut into 7 slices. During the party,
much cake was left at the end of the party?
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7 of a cake was eaten. How
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1) ) 2}or ?

b) Ewan is not correct because 23’- is mot less than ). 23'- is greater than | so Ayesha is correct.
2) a) Ayesha’s model is not correct. She has only subtracted % when she should have subtracted ;

K
3) The odd one out is | - % All the other calculations have the answer -?- whereas | - %-gwes the ansmr-f-‘
1) Multiple answers are possible, for example:
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1-3-4 2-%=3 3-7=% 4-3- %

2) 3-5=% (or24)
14 10

3) 0) 2 - ﬁ 5 E

b)Example of a word problem to be solved by this calculation:
At his birthday party, Barmey had two pizzas each cut into 12 slices. At the end of the party, ten slices were left.
What fraction of pizza had been eaten?
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I Use cubes, strips of paper or a bar model to solve:

s O

9 9

9
9 9 9 9 9

9
9

What's the same? What's different?

2 i3 9 1)

9

Dora is subtracting a fraction from a
whole.
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Can you spot her mistake?

What should the answer be?
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Dora is subtracting a fraction from a

I Use cubss' trips of pap¢?Z * a bar model to solve
4 2 13 9
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9 9

What's the same? What's different?
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I— Can you spot her mistake?

4.

whole.
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What should the answer be?

Show- yowr Teacher and

explain.




